residuals [secs]

residuals [secs]

0.4

UTC—UT1 [secs]

—0.2 jﬁt coef:

| fit coef:

—-0.4

:ﬁt from :

utc—utl fit oct15—jun16

mjd:57296 ymd: 2015 10 1 dayno:2/4

sec/day

0.271987 —0.001219
19109 milliSec/day <——Enter in file

12
271.987 —1.2191

5.730x10*

5.735%x10* 5.740%x10* 5.745x10* 5.750x10*

MJD

Linear fit residuals Data—Fit [secs]

5.755%x10*

0.008

0.006

0.004

0.002

0.000

—0.002

—0.004

—0.006

4‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\L

rms resi:0.0039secsTm

5.730%x10*

5.735%x10* 5.740x10* 5.745x10* 5.750%10*

MJD

Linear fit residuals Data—Fit [secs]

5.75

5x10*

0.008

0.006

0.004

0.002

0.000

—0.002

—0.004

4‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\‘\\\L

~0.006 |

040ct15

23Nov15 12Jan16 02Mar16 21Apr16

10J

unl16



